

Fuzzy Sets and Systems 116 (2000) 325-337



www.elsevier.com/locate/fss

# $\alpha$ -continuity and $c\alpha$ -continuity in fuzzifying topology

F.H. Khedr\*, F.M. Zeyada, O.R. Sayed

Department of Mathematics, Faculty of Sciences, Assiut University, Assiut 71516, Egypt

Received January 1998; received in revised form August 1998

#### Abstract

The concepts of  $\alpha$ -continuity and  $c\alpha$ -continuity are considered and studied in fuzzifying topology and by making use of these concepts, some decompositions of fuzzy continuity are introduced. It is proved that the family of all  $\alpha$ -sets in fuzzifying topology may not be a fuzzifying topology. © 2000 Elsevier Science B.V. All rights reserved.

Keywords: Fuzzifying topology; Fuzzy continuity; a-continuity; ca-continuity

## 1. Introduction

In [4], Ying introduced the concept of fuzzifying topology with the semantic method of continuous-valued logic. All the conventions in [4–6] are good in this paper. In general topology, Njastad [7] introduced the concept of  $\alpha$ -sets and in [3] the concept of  $\alpha$ -continuity is studied. It is worth mentioning that these concepts are introduced in fuzzy topology by Singal and Rajvanshi [9]. In [8], the concept of  $D(c, \alpha)$ -continuity is introduced which will be renamed also in the present paper as  $c\alpha$ -continuity. In the present paper, we extend and study the concepts of  $\alpha$ -continuity are introduced. A counterexample is given to prove that the family of all  $\alpha$ -open sets need not be a fuzzifying topology which contradicts a well-known result in crisp setting. Finally, the concept of  $c\alpha$ -neighborhood system is presented and a fuzzifying topology induced by it is introduced.

## 2. Preliminaries

For the fuzzy logical and the corresponding set theoretical notations we refer to [4,5]. We note that the set of truth values is the unit interval and we do often not distinguish the connectives and their truth value functions and state strictly our results on formalization as Ying does. For the definitions and results in fuzzifying topology which are used in the sequel we refer to [4-6].

We now give some definitions and results are introduced in [2] which are useful in the rest of the present paper.

<sup>\*</sup> Corresponding author.

**Definition 2.1.** For any  $\tilde{A} \in \mathscr{F}(X)$ ,

 $\models (\tilde{A})^{\circ} \equiv X \sim \overline{(X \sim \tilde{A})}.$ 

Lemma 2.1. If  $[\tilde{A} \subseteq \tilde{B}] = 1$ , then (1)  $\models \bar{\tilde{A}} \subseteq \bar{\tilde{B}}$ ; (2)  $\models (\tilde{A})^{\circ} \subseteq (\tilde{B})^{\circ}$ .

**Lemma 2.2.** Let  $(X, \tau)$  be a fuzzifying topological space. For any  $\tilde{A}, \tilde{B}$ , (1)  $\models X^{\circ} \equiv X$ ; (2)  $\models (\tilde{A})^{\circ} \subseteq \tilde{A}$ ; (3)  $\models (\tilde{A} \cap \tilde{B})^{\circ} \equiv (\tilde{A})^{\circ} \cap (\tilde{B})^{\circ}$ ; (4)  $\models (\tilde{A})^{\circ \circ} \supseteq (\tilde{A})^{\circ}$ .

One can add the following lemma

**Lemma 2.3.** Let  $(X, \tau)$  be a fuzzifying topological space. For any  $\tilde{A} \in \mathscr{F}(X)$ , (1)  $\models X \sim (\tilde{A})^{\circ - \circ} \equiv (X \sim \tilde{A})^{- \circ -}$ ; (2) if  $[\tilde{A} \subseteq \tilde{B}] = 1$ , then  $\models (\tilde{A})^{\circ - \circ} \subseteq (\tilde{B})^{\circ - \circ}$ .

## 3. Fuzzifying $\alpha$ -open sets and fuzzifying $c\alpha$ -open sets

**Definition 3.1.** Let  $(X, \tau)$  be a fuzzifying topological space.

(1) The family of fuzzifying  $\alpha$ - (resp.  $c\alpha$ -) open sets is denoted by  $\alpha \tau$  (resp.  $c\alpha \tau$ )  $\in \mathscr{F}(P(X))$  and defined as follows:

 $A \in \alpha \tau := \forall x (x \in A \to x \in A^{\circ - \circ}) \quad (\text{resp. } A \in c \alpha \tau := \forall x (x \in A \cap A^{\circ - \circ} \to x \in A^{\circ})).$ 

(2) The family of fuzzifying  $\alpha$ - (resp.  $c\alpha$ -) closed sets is denoted by  $\alpha F$  (resp.  $c\alpha F$ )  $\in \mathscr{F}(P(X))$  and defined as follows:

 $A \in \alpha F$  (resp.  $c\alpha F$ ) :=  $X \sim A \in \alpha \tau$  (resp.  $c\alpha \tau$ ).

**Lemma 3.1.** For any  $\alpha, \beta, \gamma, \delta \in I$ ,

$$(1 - \alpha + \beta) \wedge (1 - \gamma + \delta) \leq 1 - (\alpha \wedge \gamma) + (\beta \wedge \delta).$$

**Lemma 3.2.** For any  $A \in P(X)$ ,

 $\models A^{\circ} \subseteq A^{\circ - \circ}.$ 

**Proof.** From Theorem 5.3 [7] we have  $[A^{\circ} \subseteq A^{\circ-}] = 1$  and from Lemma 2.1(2),  $[A^{\circ\circ} \subseteq A^{\circ-\circ}] = 1$ . Since from Lemma 2.2 we have  $[A^{\circ\circ} \equiv A^{\circ}] = 1$ , the result holds.  $\Box$ 

**Theorem 3.1.** Let  $(X, \tau)$  be a fuzzifying topological space. Then

(1) (a)  $\alpha \tau(X) = 1$ ,  $\alpha \tau(\emptyset) = 1$ ; (b) for any  $\{A_{\lambda} : \lambda \in A\}$ ,  $\alpha \tau(\bigcup_{\lambda \in A} A_{\lambda}) \ge \bigwedge_{\lambda \in A} \alpha \tau(A_{\lambda})$ ; (2) (a)  $c \alpha \tau(X) = 1$ ,  $c \alpha \tau(\phi) = 1$ ; (b)  $c \alpha \tau(A \cap B) \ge c \alpha \tau(A) \land c \alpha \tau(B)$ . **Proof.** The proof of (a) in (1) and (a) in (2) are straightforward. (1) (b) From Lemma 2.3,  $\models A_{\lambda}^{\circ-\circ} \subseteq (\bigcup_{\lambda \in A} A_{\lambda})^{\circ-\circ}$ . So,

$$\alpha \tau \left( \bigcup_{\lambda \in \Lambda} A_{\lambda} \right) = \inf_{x \in \bigcup_{\lambda \in \Lambda} A_{\lambda}} \left( \bigcup_{\lambda \in \Lambda} A_{\lambda} \right)^{\circ - \circ} (x) = \inf_{\lambda \in \Lambda} \inf_{x \in A_{\lambda}} \left( \bigcup_{\lambda \in \Lambda} A_{\lambda} \right)^{\circ - \circ} (x)$$
$$\geqslant \inf_{\lambda \in \Lambda} \inf_{x \in A_{\lambda}} A_{\lambda}^{\circ - \circ} (x) = \bigwedge_{\lambda \in \Lambda} \alpha \tau(A_{\lambda}).$$

(2) (b) Applying Lemmas 2.2 (3), 2.3 (2) and 3.1 we have

$$c\alpha\tau(A) \wedge c\alpha\tau(B) = \inf_{x \in A} (1 - A^{\circ - \circ}(x) + A^{\circ}(x)) \wedge \inf_{x \in B} (1 - B^{\circ - \circ}(x) + B^{\circ}(x))$$

$$\leq \inf_{x \in A \cap B} ((1 - A^{\circ - \circ}(x) + A^{\circ}(x)) \wedge (1 - B^{\circ - \circ}(x) + B^{\circ}(x)))$$

$$\leq \inf_{x \in A \cap B} (1 - (A^{\circ - \circ} \cap B^{\circ - \circ})(x) + (A^{\circ} \cap B^{\circ})(x))$$

$$\leq \inf_{x \in A \cap B} (1 - (A \cap B)^{\circ - \circ}(x) + (A \cap B)^{\circ}(x))$$

$$= c\alpha\tau(A \cap B). \square$$

From Theorem 3.1, we can have the following theorem

**Theorem 3.2.** Let  $(X, \tau)$  be a fuzzifying topological space. Then (1) (a)  $\alpha F(X) = 1$ ,  $\alpha F(\emptyset) = 1$ ; (b)  $\alpha F(\bigcap_{\lambda \in A} A_{\lambda}) \ge \bigwedge_{\lambda \in A} \alpha F(A_{\lambda})$ ; (2) (a)  $c \alpha F(X) = 1$ ,  $c \alpha F(\emptyset) = 1$ ; (b)  $c \alpha F(A \cup B) \ge c \alpha F(A) \land c \alpha F(B)$ .

**Theorem 3.3.** Let  $(X, \tau)$  be a fuzzifying topological space. Then

(1) (a)  $\models \tau \subseteq \alpha \tau;$ (b)  $\models \tau \subseteq c \alpha \tau;$ (2) (a)  $\models F \subseteq \alpha F;$ (b)  $\models F \subseteq c \alpha F.$ 

**Proof.** From Theorem 2.2(3) [8] and Lemma 3.2, we have (1) (a)  $[A \in \tau] = [A \subseteq A^{\circ}] \leq [A \subseteq A^{\circ-\circ}] = [A \in \alpha\tau].$ (b)  $[A \in \tau] = [A \subseteq A^{\circ}] \leq [A \cap A^{\circ-\circ} \subseteq A^{\circ}] = [A \in c\alpha\tau].$ (2) The proof is obtained from (1).  $\Box$ 

Remark 3.1. In crisp setting, i.e., if the underlying fuzzifying topology is the ordinary topology, one can have

(1)  $\models (A \in \alpha \tau \land A \in c \alpha \tau) \to A \in \tau;$ (2)  $\models (A \in \alpha \tau \land B \in \alpha \tau) \to A \cap B \in \alpha \tau.$ 

But these statements may not be true in general in fuzzifying topology as illustrated by the following counterexample.

**Counterexample 3.1.** Let  $X = \{a, b, c\}$  and let  $\tau$  be a fuzzifying topology on X defined as follows:

$$\tau(X) = \tau(\{a\}) = \tau(\{a,c\}) = 1; \ \tau(\{b\}) = \tau(\{a,b\}) = 0 \text{ and } \tau(\{c\}) = \tau(\{b,c\}) = \frac{1}{8}.$$

One can have that

- (1)  $\alpha \tau(\{a,b\}) = \frac{7}{8}, \ c \alpha \tau(\{a,b\}) = \frac{1}{8}$  and hence,  $\alpha \tau(\{a,b\}) \wedge c \alpha \tau(\{a,b\}) = \frac{7}{8} \wedge \frac{1}{8} = \frac{1}{8} \leq 0 = \tau(\{a,b\})$  and (2)  $\alpha \tau(\{a,b\}) = \frac{7}{8}, \ \alpha \tau(\{b,c\}) = \frac{1}{8}$  and  $\alpha \tau(\{b\}) = 0$  and hence  $\alpha \tau(\{a,b\}) \wedge \alpha \tau(\{b,c\}) = \frac{1}{8} \leq 0 = \alpha \tau(\{b\})$
- $= \alpha \tau(\{a,b\} \cap \{b,c\}).$

**Theorem 3.4.** Let  $(X, \tau)$  be a fuzzifying topological space. (1)  $\models A \in \tau \rightarrow (A \in \alpha \tau \land A \in c \alpha \tau);$ (2) If  $[A \in \alpha \tau] = 1$  or  $[A \in c \alpha \tau] = 1$ , then  $\models A \in \tau \leftrightarrow (A \in \alpha \tau \land A \in c \alpha \tau).$ 

**Proof.** (1) Obtained from Theorem 3.3 (1).

(2) If  $[A \in \alpha \tau] = 1$ , then for each  $x \in A$ ,  $A^{\circ - \circ}(x) = 1$  and so for each  $x \in A$ ,  $1 - A^{\circ - \circ}(x) + A^{\circ}(x) = A^{\circ}(x)$ . Thus, from Lemma 3.2,  $\models A^{\circ} \subseteq A^{\circ - \circ}$  and so we have,  $[A \in \alpha \tau] \land [A \in c\alpha \tau] = [A \in c\alpha \tau] = [A \in \tau]$ . If  $[A \in c\alpha \tau] = 1$  then for each  $x \in A$ ,  $1 - A^{\circ - \circ}(x) + A^{\circ}(x) = 1$  and so for each  $x \in A$ , we have  $A^{\circ - \circ}(x) = A^{\circ}(x)$ . Thus  $[A \in \alpha \tau] \land [A \in c\alpha \tau] = [A \in c\alpha \tau] = [A \in \tau]$ .  $\Box$ 

**Theorem 3.5.** Let  $(X, \tau)$  be a fuzzifying topological space. Then

 $\models (A \in \alpha \tau \land A \in c \alpha \tau) \to A \in \tau.$ 

Proof.

$$\begin{aligned} \alpha\tau(A) \wedge c\alpha\tau(A) &= \inf_{x \in A} A^{\circ - \circ}(x) \wedge \inf_{x \in A} (1 - A^{\circ - \circ}(x) + A^{\circ}(x)) \\ &= \max\left(0, \inf_{x \in A} A^{\circ - \circ}(x) + \inf_{x \in A} (1 - A^{\circ - \circ}(x) + A^{\circ}(x)) - 1\right) \\ &\leq \inf_{x \in A} A^{\circ}(x) = [A \in \tau]. \quad \Box \end{aligned}$$

#### 4. Fuzzifying $\alpha$ - (resp. $c\alpha$ -) neighborhood structure of a point

**Definition 4.1.** Let  $x \in X$ . The  $\alpha$ - (resp.  $c\alpha$ -) neighborhood of x is denoted by  $\alpha N_x$  (resp.  $c\alpha N_x$ )  $\in \mathscr{F}(P(X))$  and defined as

$$\alpha N_x(A) = \sup_{x \in B \subseteq A} \alpha \tau(B) \quad \left( \text{resp. } c \alpha N_x(A) = \sup_{x \in B \subseteq A} c \alpha \tau(B) \right).$$

**Theorem 4.1.** (1)  $\models A \in \alpha \tau \leftrightarrow \forall x (x \in A \rightarrow \exists B (B \in \alpha \tau \land x \in B \subseteq A));$ (2)  $\models A \in \alpha \tau \leftrightarrow \forall x (x \in A \rightarrow \exists B (B \in \alpha N_x \land B \subseteq A)).$ 

**Proof.** (1) Now,

$$[\forall x(x \in A \to \exists B(B \in \alpha\tau \land x \in B \subseteq A))] = \inf_{x \in A} \sup_{x \in B \subseteq A} \alpha\tau(B).$$

It is clear that  $\inf_{x \in A} \sup_{x \in B \subseteq A} \alpha \tau(B) \ge \alpha \tau(A)$ . On the other hand, let  $\beta_x = \{B: x \in B \subseteq A\}$ . Then, for any  $f \in \prod_{x \in A} \beta_x$  we have  $\bigcup_{x \in A} f(x) = A$  and so  $\alpha \tau(A) = \alpha \tau(\bigcup_{x \in A} f(x)) \ge \inf_{x \in A} \alpha \tau(f(x))$ . Thus,

$$\alpha\tau(A) \ge \sup_{f \in \prod_{x \in A} \beta_x} \inf_{x \in A} \alpha\tau(f(x)) = \inf_{x \in A} \sup_{x \in B} \sup_{\subseteq A} \alpha\tau(B).$$

(2) From (1) we have

$$[\forall x (x \in A \to \exists B(B \in \alpha N_x \land B \subseteq A))] = \inf_{x \in A} \sup_{B \subseteq A} \alpha N_x(B)$$
  
=  $\inf_{x \in A} \sup_{B \subseteq A} \sup_{x \in C \subseteq B} \alpha \tau(C)$   
=  $\inf_{x \in A} \sup_{x \in C \subseteq A} \alpha \tau(C) = [A \in \alpha \tau].$ 

**Corollary 4.1.**  $\inf_{x \in A} \alpha N_x(A) = \alpha \tau(A)$ .

**Theorem 4.2.** The mapping  $\alpha N : X \to \mathscr{F}^N(P(X))$ ,  $x \mapsto \alpha N_x$  where  $\mathscr{F}^N(P(X))$  is the set of all normal fuzzy subsets of P(X) has the following properties: (1) for any  $x, A, \models A \in \alpha N_x \to x \in A$ ;

(2) for any  $x, A, B, \models A \subseteq B \rightarrow (A \in \alpha N_x \rightarrow B \in \alpha N_x);$ 

(3) for any  $x, A, \models A \in \alpha N_x \to \exists H(H \in \alpha N_x \land H \subseteq A \land \forall y(y \in H \to H \in \alpha N_v)).$ 

**Proof.** One can easily have that for each  $x \in X$ ,  $\alpha N_x(X) = 1$ , i.e. each  $\alpha N_x$  is normal.

- (1) If  $\alpha N_x(A) = 0$ , the result holds. Suppose  $\alpha N_x(A) > 0$ , then  $\sup_{x \in H \subseteq A} \alpha \tau(H) > 0$  and so there exists  $H_\circ$  such that  $x \in H_\circ \subseteq A$ . Thus  $[x \in A] = 1 \ge \alpha N_x(A)$ .
- (2) Immediate.

(3) 
$$[\exists H(H \in \alpha N_x \land H \subseteq A \land \forall y(y \in H \to H \in \alpha N_y))]$$
  
=  $\sup_{H \subseteq A} \left( \alpha N_x(H) \land \inf_{y \in H} \alpha N_y(H) \right)$   
=  $\sup_{H \subseteq A} (\alpha N_x(H) \land \alpha \tau(H))$   
=  $\sup_{H \subseteq A} \alpha \tau(H) \ge \sup_{x \in H \subseteq A} \alpha \tau(H) = [A \in \alpha N_x].$ 

**Theorem 4.3.** The mapping  $c\alpha N : X \to \mathscr{F}^N(P(X))$ ,  $x \mapsto c\alpha N_x$ , where  $\mathscr{F}^N(P(X))$ , is the set of all normal fuzzy subsets of P(X) has the following properties:

- (1) for any  $x, A, \models A \in c\alpha N_x \rightarrow x \in A$ ;
- (2) for any  $x, A, B, \models A \subseteq B \rightarrow (A \in c\alpha N_x \rightarrow B \in c\alpha N_x);$
- (3) for any  $x, A, B, \models A \in c\alpha N_x \land B \in c\alpha N_x \rightarrow A \cap B \in c\alpha N_x$ .

Conversely, if a mapping  $c\alpha N$  satisfies (2) and (3), then  $c\alpha N$  assigns a fuzzifying topology on X, denoted by  $\tau_{c\alpha N} \in \mathscr{F}(P(X))$  and defined as

 $A \in \tau_{c\alpha N} := \forall x (x \in A \to A \in c\alpha N_x).$ 

**Proof.** It is clear that each  $c\alpha N_x$  is normal.

The proof of (1) and (2) are similar to the corresponding results in Theorem 4.2. (3) From Theorem 3.1(2)(b) we have

$$[A \cap B \in c\alpha N_x] = \sup_{x \in H \subseteq A \cap B} c\alpha \tau(H) = \sup_{x \in H_1 \subseteq A, x \in H_2 \subseteq B} c\alpha \tau(H_1 \cap H_2)$$
  
$$\geq \sup_{x \in H_1 \subseteq A, x \in H_2 \subseteq B} (c\alpha \tau(H_1) \wedge c\alpha \tau(H_2)) = \sup_{x \in H_1 \subseteq A} c\alpha \tau(H_1) \wedge \sup_{x \in H_2 \subseteq B} c\alpha \tau(H_2)$$
  
$$= c\alpha N_x(A) \wedge c\alpha N_x(B).$$

Conversely, we need to prove that  $\tau_{c\alpha N} = \inf_{x \in A} c\alpha N_x(A)$  is a fuzzifying topology. From Theorem 3.2 [7] and since  $\tau_{c\alpha N}$  satisfies properties (2) and (3),  $\tau_{c\alpha N}$  is a fuzzifying topology.  $\Box$ 

**Theorem 4.4.** Let  $(X, \tau)$  be a fuzzifying topological space. Then  $\models c\alpha \tau \subseteq \tau_{c\alpha N}$ .

**Proof.** Let  $B \in P(X)$ ;  $\tau_{c\alpha N}(B) = \inf_{x \in B} c\alpha N_x(B) = \inf_{x \in B} \sup_{x \in A \subset B} c\alpha \tau(A) \ge c\alpha \tau(B)$ .  $\Box$ 

### 5. $\alpha$ - (resp. $c\alpha$ -) closure and $\alpha$ - (resp. $c\alpha$ -) interior

**Definition 5.1.** (1) The  $\alpha$ - (resp.  $c\alpha$ -) closure of A is denoted by  $\alpha - cl$  (resp.  $c\alpha - cl$ )  $\in \mathscr{F}(P(X))$  and defined as follows:

$$\alpha - cl(A)(x) = \inf_{x \notin B \supseteq A} (1 - \alpha F(B)) \quad (\text{resp. } c\alpha - cl(A)(x) = \inf_{x \notin B \supseteq A} (1 - c\alpha F(B))).$$

(2) The  $\alpha$ - (resp.  $c\alpha$ -) interior of A is denoted by  $\alpha - int(A)$  (resp.  $c\alpha - int(A) \in \mathscr{F}(P(X))$ ) and defined as follows:

 $\alpha - int(A)(x) = \alpha N_x(A)$  (resp.  $c\alpha - int(A)(x) = c\alpha N_x(A)$ ).

## Theorem 5.1.

(1) (a) 
$$\alpha - cl(A)(x) = 1 - \alpha N_x(X \sim A);$$
  
(b)  $\models \alpha - cl(\phi) \equiv \emptyset;$   
(c)  $\models A \subseteq \alpha - cl(A);$   
(d)  $\models x \in \alpha - cl(A) \leftrightarrow \forall B(B \in \alpha N_x \rightarrow A \cap B \neq \emptyset);$   
(e)  $\models A \equiv \alpha - cl(A) \leftrightarrow A \in \alpha F;$   
(f)  $\models B \doteq \alpha - cl(A) \rightarrow B \in \alpha F.$   
(2) (a)  $c\alpha - cl(A)(x) = 1 - c\alpha N_x(X \sim A);$   
(b)  $\models c\alpha - cl(\Phi) \equiv \emptyset;$   
(c)  $\models A \subseteq c\alpha - cl(A);$   
(d)  $\models x \in c\alpha - cl(A) \leftrightarrow \forall B(B \in c\alpha N_x \rightarrow A \cap B \neq \emptyset);$   
(e)  $\models A \equiv c\alpha - cl(A) \leftrightarrow A \in F\tau_{c\alpha N};$   
(f)  $\models B \doteq c\alpha - cl(A) \rightarrow B \in F\tau_{c\alpha N}.$ 

**Proof.** (1) (a)

$$\alpha - cl(A)(x) = \inf_{x \notin B \supseteq A} (1 - \alpha F(B)) = \inf_{x \in X \sim B \subseteq X \sim A} (1 - \alpha \tau(X \sim B))$$
$$= 1 - \sup_{x \in X \sim B \subseteq X \sim A} \alpha \tau(X \sim B) = 1 - \alpha N_x(X \sim A);$$

(b) 
$$\alpha - cl(\emptyset)(x) = 1 - \alpha N_x(X \sim \emptyset) = 0$$

(c) It is clear that for any  $A \in P(X)$  and any  $x \in X$ , if  $x \notin A$ , then  $\alpha N_x(A) = 0$ . If  $x \in A$ , then  $\alpha - cl(A)(x) = 1 - \alpha N_x(X \sim A) = 1 - 0 = 1$ . Then  $[A \subseteq \alpha - cl(A)] = 1$ .

(d) 
$$[\forall B(B \in \alpha N_x \to A \cap B \neq \emptyset)] = \inf_{B \subset X \sim A} (1 - \alpha N_x(B)) = 1 - \alpha N_x(X \sim A) = [x \in \alpha - cl(A)].$$

(e) From Corollary 4.1 and from (a), (c) above we have

$$[A \equiv \alpha - cl(A)] = \inf_{x \in X \sim A} (1 - (\alpha - cl(A))(x))$$
$$= \inf_{x \in X \sim A} \alpha N_x(X \sim A) = \alpha \tau(X \sim A) = [A \in \alpha F].$$

(f) If  $[A \subseteq B] = 0$ , then  $[B \doteq \alpha - cl(A)] = 0$ . Now, we suppose  $[A \subseteq B] = 1$ , and have,  $[B \subseteq \alpha - cl(A)] = 1 - \sup_{x \in B \sim A} \alpha N_x(X \sim A)$ ,  $[\alpha - cl(A) \subseteq B] = \inf_{x \in X \sim B} \alpha N_x(X \sim A)$ . So,  $[B \doteq \alpha - cl(A)] = \max(0, \inf_{x \in X \sim B} \alpha N_x(X \sim A))$ .  $(X \sim A) - \sup_{x \in B \sim A} \alpha N_x(X \sim A))$ . If  $[B \doteq \alpha - cl(A)] > t$ , then  $\inf_{x \in X \sim B} \alpha N_x(X \sim A) > t + \sup_{x \in B \sim A} \alpha N_x(X \sim A)$ . For any  $x \in X \sim B$ ,  $\sup_{x \in C \subseteq X \sim A} \alpha \tau(C) > t + \sup_{x \in B \sim A} \alpha N_x(X \sim A)$ , i.e., there exists  $C_x$  such that  $x \in C_x \subseteq X \sim A$  and  $\alpha \tau(C_x) > t + \sup_{x \in B \sim A} \alpha N_x(X \sim A)$ . Now we want to prove that  $C_x \subseteq X \sim B$ . If not, then there exists  $x' \in B \sim A$  with  $x' \in C_x$ . Hence, we obtain  $\sup_{x \in B \sim A} \alpha N_x(X \sim A) \ge \alpha N_{x'}(X \sim A) \ge \alpha \tau(C_x) > t + \sup_{x \in B \sim A} \alpha N_x(X \sim A)$ , a contradiction. Therefore,  $\alpha F(B) = \alpha \tau(X \sim B) = \inf_{x \in X \sim B} \alpha N_x(X \sim B) \ge \inf_{x \in X \sim B} \alpha \tau(C_x) \ge t + \sup_{x \in B \sim A} \alpha N_x(X \sim A) \ge t$ . Since t is arbitrary, it holds that  $[B \doteq \alpha - cl(A)] \le [B \in \alpha F]$ .

(2) The proof is similar to (1).  $\Box$ 

**Theorem 5.2.** For any x, A, B, (1) (a)  $\models \alpha - int(A) \equiv X \sim \alpha - cl(X \sim A)$ ; (b)  $\models \alpha - int(X) \equiv X$ ; (c)  $\models \alpha - int(A) \subseteq A$ ; (d)  $\models B \doteq \alpha - int(A) \rightarrow B \in \alpha \tau$ ; (e)  $\models B \in \alpha \tau \land B \subseteq A \rightarrow B \subseteq \alpha - int(A)$ ; (f)  $\models A \equiv \alpha - int(A) \leftrightarrow A \in \alpha \tau$ ; (2) (a)  $\models c\alpha - int(A) \equiv X \sim c\alpha - cl(X \sim A)$ ; (b)  $\models c\alpha - int(A) \equiv X$ ; (c)  $\models c\alpha - int(A) \subseteq A$ ; (d)  $\models B \doteq c\alpha - int(A) \rightarrow B \in \tau_{c\alpha N}$ ; (e)  $\models B \in \tau_{c\alpha N} \land B \subseteq A \rightarrow B \subseteq c\alpha - int(A)$ ; (f)  $\models A \equiv c\alpha - int(A) \leftrightarrow A \in \tau_{c\alpha N}$ .

**Proof.** (1) (a) From Theorem 5.1(a)  $\alpha - cl(X \sim A)(x) = 1 - \alpha N_x(A) = 1 - (\alpha - int(A))(x)$ . Then,  $[\alpha - int(A) \equiv X \sim \alpha - cl(X \sim A)] = 1$ .

(b) and (c) are obtained from (a) above and from Theorem 5.1(1)(b) and (1)(c).

(d) From (a) above and from Theorem 5.1(1)(f) we have

 $[B \doteq \alpha - int(A)] = [X \sim B \doteq \alpha - cl(X \sim A)] \leq [X \sim B \in \alpha F] = [B \in \alpha \tau].$ 

(e) If  $[B \subseteq A] = 0$ , then the result holds. If  $[B \subseteq A] = 1$ , then we have that  $[B \subseteq \alpha - int(A)] = \inf_{x \in B} \alpha N_x(A) \ge \inf_{x \in B} \alpha N_x(B) = \alpha \tau(B) = [B \in \alpha \tau \land B \subseteq A]$ . (f) From Corollary 4.1, we have

$$[A \equiv \alpha - int(A)] = \min(\inf_{x \in A} (\alpha - int(A))(x), \inf_{x \in X \sim A} (1 - (\alpha - int(A))(x)))$$
$$= \inf_{x \in A} (\alpha - int(A))(x) = \inf_{x \in A} \alpha N_x(A) = \alpha \tau(A) = [A \in \alpha \tau].$$

(2) The proof is similar to (1).  $\Box$ 

## 6. $\alpha$ -Continuous functions and $c\alpha$ -continuous functions

**Definition 6.1.** Let  $(X, \tau), (Y, U)$  be two fuzzifying topological spaces. (1) A unary fuzzy predicate  $\alpha C \in \mathscr{F}(Y^X)$  called fuzzy  $\alpha$ -continuity, is given as

$$\alpha C(f) := \forall u(u \in U \to f^{-1}(u) \in \alpha \tau).$$

(2) A unary fuzzy predicate  $c\alpha C \in \mathscr{F}(Y^X)$  called fuzzy  $c\alpha$ -continuity, is given as

$$c\alpha C(f) := \forall u(u \in U \to f^{-1}(u) \in c\alpha \tau).$$

**Definition 6.2.** Let  $(X, \tau), (Y, U)$  be two fuzzifying topological spaces. For any  $f \in Y^X$ , we define the unary fuzzy predicates  $\alpha H_j, c\alpha H_j \in \mathcal{F}(Y^X)$  where j = 1, 2, ..., 5 as follows:

(1) (a)  $\alpha H_1(f) := \forall B(B \in F_Y \to f^{-1}(B) \in \alpha F_X);$  (b)  $c\alpha H_1(f) := \forall B(B \in F_Y \to f^{-1}(B) \in c\alpha F_X),$ 

where  $F_Y$  is the family of closed subsets of Y; and  $\alpha F_X$  and  $c\alpha F_X$  are the families of  $\alpha$ -closed and  $c\alpha$ -closed subsets of X, respectively.

(2) (a)  $\alpha H_2(f) := \forall x \forall u (u \in N_{f(x)}^Y \to f^{-1}(u) \in \alpha N_x^X)$ ; (b)  $c \alpha H_2(f) := \forall x \forall u (u \in N_{f(x)}^Y \to f^{-1}(u) \in c \alpha N_x^X)$ ,

where  $N^Y$  is the neighborhood system of Y; and  $\alpha N^X$  and  $c\alpha N^X$  are the  $\alpha$ -neighborhood and  $c\alpha$ -neighborhood systems of X, respectively.

(3) (a) 
$$\alpha H_3(f) := \forall x \forall u (u \in N_{f(x)}^Y \to \exists v (f(v) \subseteq u \to v \in \alpha N_x^X));$$
 (b)  $c \alpha H_3(f) := \forall x \forall u (u \in N_{f(x)}^Y \to \exists v (f(v) \subseteq u \to v \in \alpha N_x^X));$ 

(4) (a) 
$$\alpha H_4(f) := \forall A(f(\alpha - cl_X(A)) \subseteq cl_Y(f(A)));$$
 (b)  $c\alpha H_4(f) := \forall A(f(c\alpha - cl_X(A)) \subseteq cl_Y(f(A)));$   
(5) (a)  $\alpha H_5(f) := \forall B(\alpha - cl_X(f^{-1}(B)) \subseteq f^{-1}(cl_Y(B)));$  (b)  $c\alpha H_5(f) := \forall B(c\alpha - cl_X(f^{-1}(B)) \subseteq f^{-1}(cl_Y(B)))$ 

**Theorem 6.1.** (1)  $\models f \in \alpha C \leftrightarrow f \in \alpha H_j, j = 1, 2, 3, 4, 5;$ (2)  $\models f \in c\alpha C \leftrightarrow f \in c\alpha H_1.$ 

**Proof.** We will prove (1) only since the proof of (2) is similar to the corresponding result in (1)(a). We prove that  $\models f \in \alpha C \leftrightarrow f \in \alpha H_1$ :

$$[f \in \alpha H_1] = \inf_{B \in P(Y)} \min(1, 1 - F_Y(B) + \alpha F_X(f^{-1}(B)))$$
  
=  $\inf_{B \in P(Y)} \min(1, 1 - U(Y \sim B) + \alpha \tau(X \sim f^{-1}(B)))$   
=  $\inf_{B \in P(Y)} \min(1, 1 - U(Y \sim B) + \alpha \tau(f^{-1}(Y \sim B)))$   
=  $\inf_{u \in P(Y)} \min(1, 1 - U(u) + \alpha \tau(f^{-1}(u)))$   
=  $[f \in \alpha C].$ 

(b) We want to prove that  $\models f \in \alpha C \leftrightarrow f \in \alpha H_2$ .

First, we prove that  $\alpha H_2(f) \ge \alpha C(f)$ . If  $N_{f(x)}^Y(u) \le \alpha N_x^X(f^{-1}(u))$  the result holds. Suppose  $N_{f(x)}^Y(u) > \alpha N_x^X(f^{-1}(u))$ . It is clear that, if  $f(x) \in A \subseteq u$ , then  $x \in f^{-1}(A) \subseteq f^{-1}(u)$ . Then,

$$N_{f(x)}^{Y}(u) - \alpha N_{x}^{X}(f^{-1}(u)) = \sup_{f(x)\in A\subseteq u} U(A) - \sup_{x\in B\subseteq f^{-1}(u)} \alpha\tau(B)$$
  
$$\leqslant \sup_{f(x)\in A\subseteq u} U(A) - \sup_{f(x)\in A\subseteq u} \alpha\tau(f^{-1}(A))$$
  
$$\leqslant \sup_{f(x)\in A\subseteq u} (U(A) - \alpha\tau(f^{-1}(A))).$$

So,

$$1 - N_{f(x)}^{Y}(u) + \alpha N_{x}^{X}(f^{-1}(u)) \ge \inf_{f(x) \in A \subseteq u} (1 - U(A) + \alpha \tau(f^{-1}(A)))$$

and, thus,

$$\min(1, 1 - N_{f(x)}^{Y}(u) + \alpha N_{x}^{X}(f^{-1}(u))) \ge \inf_{f(x) \in A \subseteq U} \min(1, 1 - U(A) + \alpha \tau(f^{-1}(A)))$$
$$\ge \inf_{v \in P(Y)} \min(1, 1 - U(v) + \alpha \tau(f^{-1}(v))) = \alpha C(f).$$

Hence,

$$\inf_{x \in X} \inf_{u \in P(Y)} \min(1, 1 - N_{f(x)}^{Y}(u) + \alpha N_{x}^{X}(f^{-1}(u))) \ge [f \in \alpha C].$$

Secondly, we prove that  $\alpha C(f) \ge \alpha H_2(f)$ . From Corollary 4.1, we have

$$\begin{aligned} \alpha C(f) &= \inf_{u \in P(Y)} \min(1, 1 - U(u) + \alpha \tau(f^{-1}(u))) \\ &\ge \inf_{u \in P(Y)} \min\left(1, 1 - \inf_{f(x) \in u} N_{f(x)}^{Y}(u) + \inf_{x \in f^{-1}(u)} \alpha N_{x}^{X}(f^{-1}(u))\right) \\ &= \inf_{u \in P(Y)} \min\left(1, 1 - \inf_{x \in f^{-1}(u)} N_{f(x)}^{Y}(u) + \inf_{x \in f^{-1}(u)} \alpha N_{x}^{X}(f^{-1}(u))\right) \\ &\ge \inf_{x \in X} \inf_{u \in P(Y)} \min(1, 1 - N_{f(x)}^{Y}(u) + \alpha N_{x}^{X}(f^{-1}(u))) = \alpha H_{2}(f). \end{aligned}$$

(c) We prove that  $\models f \in \alpha H_2 \leftrightarrow f \in \alpha H_3$ . From Theorem 4.2(2) we have

$$\alpha H_3(f) = \inf_{x \in X} \inf_{u \in P(Y)} \min\left(1, 1 - N_{f(x)}^Y(u) + \sup_{v \in P(X), f(v) \subseteq u} \alpha N_x^X(v)\right)$$
  
=  $\inf_{x \in X} \inf_{u \in P(Y)} \min(1, 1 - N_{f(x)}^Y(u) + \alpha N_x^X(f^{-1}(u))) = \alpha H_2(f).$ 

(d) We prove that  $\models f \in \alpha H_4 \leftrightarrow f \in \alpha H_5$ .

First, for any  $B \in P(Y)$  one can deduce that  $[f^{-1}(f(\alpha - cl_X(f^{-1}(B)))) \supseteq \alpha - cl_X(f^{-1}(B))] = 1$ ,  $[cl_Y(f(f^{-1}(B))) \subseteq cl_Y(B)] = 1$  and  $[f^{-1}(cl_Y(f(f^{-1}(B)))) \subseteq f^{-1}(cl_Y(B))] = 1$ . Then from Lemma 1.2(2) [9] we have

$$\begin{aligned} [\alpha - cl_X(f^{-1}(B)) &\subseteq f^{-1}(cl_Y(B))] \ge [f^{-1}(f(\alpha - cl_X(f^{-1}(B)))) \subseteq f^{-1}(cl_Y(B))] \\ &\ge [f^{-1}(f(\alpha - cl_X(f^{-1}(B)))) \subseteq f^{-1}(cl_Y(f(f^{-1}(B))))] \\ &\ge [f(\alpha - cl_X(f^{-1}(B))) \subseteq cl_Y(f(f^{-1}(B))))]. \end{aligned}$$

Therefore,

$$\begin{aligned} \alpha H_5(f) &= \inf_{B \in P(Y)} [\alpha - cl_X(f^{-1}(B)) \subseteq f^{-1}(cl_Y(B))] \\ &\geqslant \inf_{B \in P(Y)} [f^{-1}(f(\alpha - cl_X(f^{-1}(B)))) \subseteq f^{-1}(cl_Y(B))] \\ &\geqslant \inf_{B \in P(Y)} [f^{-1}(f(\alpha - cl_X(f^{-1}(B)))) \subseteq f^{-1}(cl_Y(f(f^{-1}(B))))] \\ &\geqslant \inf_{B \in P(Y)} [f(\alpha - cl_X(f^{-1}(B))) \subseteq cl_Y(f(f^{-1}(B)))] \\ &\geqslant \inf_{A \in P(X)} [f(\alpha - cl_X(A)) \subseteq cl_Y(f(A))] = \alpha H_4(f). \end{aligned}$$

Secondly, for each  $A \in P(X)$ , there exists  $B \in P(Y)$  such that f(A) = B and  $f^{-1}(B) \supseteq A$ . Hence,

$$\begin{aligned} [\alpha - cl_X(f^{-1}(B)) &\subseteq f^{-1}(cl_Y(B))] &\leq [\alpha - cl_X(A)) \subseteq f^{-1}(cl_Y(f(A)))] \\ &\leq [f(\alpha - cl_X(A)) \subseteq f(f^{-1}(cl_Y(f(A))))] \\ &\leq [f(\alpha - cl_X(A) \subseteq cl_Y(f(A))]. \end{aligned}$$

Thus,

$$\begin{aligned} \alpha H_4(f) &= \inf_{A \in P(X)} [\alpha - cl_X(A) \subseteq f^{-1}(cl_Y(f(A)))] \ge \inf_{B \in P(Y), B = f(A)} [\alpha - cl_X(f^{-1}(B)) \subseteq f^{-1}(cl_Y(B))] \\ &\ge \inf_{B \in P(Y)} [\alpha - cl_X(f^{-1}(B)) \subseteq f^{-1}(cl_Y(B))] = \alpha H_5(f). \end{aligned}$$

(e) We want to prove that  $\models f \in \alpha H_5 \leftrightarrow f \in \alpha H_2$ .

$$\begin{aligned} \alpha H_5(f) &= \left[ \forall B(\alpha - cl_X(f^{-1}(B)) \subseteq f^{-1}(cl_Y(B))) \right] \\ &= \inf_{B \in P(Y)} \inf_{x \in X} \min(1, 1 - (1 - \alpha N_x(X \sim f^{-1}(B))) + 1 - N_{f(x)}(Y \sim B)) \\ &= \inf_{B \in P(Y)} \inf_{x \in X} \min(1, 1 - N_{f(x)}(Y \sim B)) + \alpha N_x(f^{-1}(Y \sim B))) \\ &= \inf_{u \in P(Y)} \inf_{x \in X} \min(1, 1 - N_{f(x)}(u)) + \alpha N_x(f^{-1}(u))) = \alpha H_2(f). \end{aligned}$$

**Theorem 6.2.** (1)  $\models f \in c\alpha H_2 \leftrightarrow f \in c\alpha H_j, j = 3, 4, 5;$ (2)  $\models f \in c\alpha C \rightarrow f \in c\alpha H_2.$ 

**Proof.** (1) It is similiar to the proof of (c)-(e) in the proof of Theorem 6.1.

(2) It is similiar to the proof of the first part in (b) in Theorem 6.1.  $\Box$ 

**Remark 6.1.** In the following theorem we indicate the fuzzifying topologies with respect to which we evaluate the degree to which f is continuous or  $c\alpha C$ -continuous. Thus, the symbols  $(\tau, U) - C(f), (\tau_{c\alpha N}, U) - C(f), (\tau, U_{c\alpha N}) - c\alpha C(f)$ , etc., will be understood.

Applying Theorem 3.4(1) and Theorem 4.4 one can deduce the following theorem.

Theorem 6.3. (1)  $\models f \in (\tau, U_{c\alpha N}) - C \rightarrow f \in (\tau, U) - C;$ (2)  $\models f \in (\tau, U) - c\alpha C \rightarrow f \in (\tau_{c\alpha N}, U) - C;$ (3)  $\models f \in (\tau, U) - C \rightarrow f \in (\tau, U) - c\alpha C.$ 

### 7. Decompositions of fuzzy continuity in fuzzifying topology

**Theorem 7.1.** Let  $(X,\tau), (Y,U)$  be two fuzzifying topological spaces. Then for each  $f \in Y^X$ ,  $\models C(f) \rightarrow (\alpha C(f) \lor c \alpha C(f))$ .

**Proof.** The proof is obtained from Theorem 3.3(1).  $\Box$ 

**Remark 7.1.** In crisp setting, i.e., if the underlying fuzzifying topology is the ordinary topology, one can have  $\models \alpha C(f) \wedge c \alpha C(f) \rightarrow C(f)$ .

But this statement may not be true in general in fuzzifying topology as illustrated by the following counterexample.

$$\sigma A = \begin{cases} 1, & A \in \{X, \emptyset, \{a, b\}\}, \\ 0, & \text{o.w.} \end{cases}$$

Then  $\frac{7}{8} \wedge \frac{1}{8} = \alpha C(f) \wedge c \alpha C(f) \leq C(f) = 0.$ 

**Theorem 7.2.** Let  $(X, \tau), (Y, U)$  be two fuzzifying topological spaces and let  $f \in Y^X$ . Then  $\models C(f) \rightarrow (\alpha C(f)) \leftrightarrow c\alpha C(f))$ .

**Proof.**  $[\alpha C(f) \rightarrow c\alpha C(f)] = \min(1, 1 - \alpha C(f) + c\alpha C(f)) \ge \alpha C(f) \land c\alpha C(f)$ . Also,  $[c\alpha C(f) \rightarrow \alpha C(f)] = \min(1, 1 - c\alpha C(f) + \alpha C(f)) \ge c\alpha C(f) \land \alpha C(f)$ . Then from Theorem 7.1 we have  $c\alpha C(f) \land \alpha C(f) \ge C(f)$  and so the result holds.  $\Box$ 

**Theorem 7.3.** Let  $(X, \tau), (Y, U)$  be two fuzzifying topological spaces and let  $f \in Y^X$ . If  $[\alpha \tau (f^{-1}(u))] = 1$  or  $[c\alpha \tau (f^{-1}(u))] = 1$  for each  $u \in P(Y)$ , then  $\models C(f) \leftrightarrow (\alpha C(f) \wedge c\alpha C(f))$ .

**Proof.** Now, we need to prove that  $C(f) = \alpha C(f) \wedge c \alpha C(f)$ . Applying Theorem 3.4(2) we have

$$\begin{aligned} \alpha C(f) \wedge c \alpha C(f) &= \inf_{u \in P(Y)} \min(1, 1 - U(u) + \alpha \tau(f^{-1}(u))) \wedge \inf_{u \in P(Y)} \min(1, 1 - U(u) + c \alpha \tau(f^{-1}(u))) \\ &= \inf_{u \in P(Y)} \min(1, (1 - U(u) + \alpha \tau(f^{-1}(u))) \wedge (1 - U(u) + c \alpha \tau(f^{-1}(u)))) \\ &= \inf_{u \in P(Y)} \min(1, 1 - U(u) + (\alpha \tau(f^{-1}(u))) \wedge c \alpha \tau(f^{-1}(u))) \\ &= \inf_{u \in P(Y)} \min(1, 1 - U(u) + \tau(f^{-1}(u))) = C(f). \end{aligned}$$

**Theorem 7.4.** Let  $(X, \tau), (Y, U)$  be two fuzzifying topological spaces and let  $f \in Y^x$ . Then, (1) if  $[\alpha \tau (f^{-1}(u))] = 1$  for each  $u \in P(Y)$ , then

 $\models \alpha C(f) \to (c \alpha C(f) \leftrightarrow C(f)),$ 

(2) if  $[cat(f^{-1}(u))] = 1$  for each  $u \in P(Y)$ , then

$$\models c \alpha C(f) \rightarrow (\alpha C(f) \leftrightarrow C(f))$$

**Proof.** (1) Since  $[\alpha \tau(f^{-1}(u))] = 1$  and so  $[f^{-1}(u) \subseteq (f^{-1}(u))^{\circ-\circ}] = 1$ , then  $[f^{-1}(u) \cap (f^{-1}(u))^{\circ-\circ}] \subseteq (f^{-1}(u))^{\circ}] = [f^{-1}(u) \subseteq (f^{-1}(u))^{\circ}]$ . Thus,

$$c\alpha C(f) = \inf_{u \in P(Y)} \min(1, 1 - U(u) + c\alpha \tau(f^{-1}(u)))$$
  
= 
$$\inf_{u \in P(Y)} \min(1, 1 - U(u) + [f^{-1}(u) \cap (f^{-1}(u))^{\circ - \circ} \subseteq (f^{-1}(u))^{\circ}])$$
  
= 
$$\inf_{u \in P(Y)} \min(1, 1 - U(u) + [f^{-1}(u) \subseteq (f^{-1}(u))^{\circ}])$$
  
= 
$$\inf_{u \in P(Y)} \min(1, 1 - U(u) + \tau(f^{-1}(u))) = C(f).$$

(2) Since  $[cat(f^{-1}(u))] = 1$  one can deduce that  $(f^{-1}(u))^{\circ-\circ} = (f^{-1}(u))^{\circ}$ . So,

$$\begin{aligned} \alpha C(f) &= \inf_{u \in P(Y)} \min(1, 1 - U(u) + \alpha \tau(f^{-1}(u))) \\ &= \inf_{u \in P(Y)} \min(1, 1 - U(u) + [f^{-1}(u) \subseteq (f^{-1}(u)))^{\circ - \circ}]) \\ &= \inf_{u \in P(Y)} \min(1, 1 - U(u) + [f^{-1}(u) \subseteq (f^{-1}(u)))^{\circ}]) \\ &= \inf_{u \in P(Y)} \min(1, 1 - U(u) + \tau(f^{-1}(u))) = C(f). \end{aligned}$$

**Theorem 7.5.** Let  $(X, \tau), (Y, U), (Z, V)$  be three fuzzifying topological spaces. For any  $f \in Y^X$ ,  $g \in Z^Y$ , (1)  $\models \alpha C(f) \rightarrow (C(g) \rightarrow \alpha C(g \circ f));$ (2)  $\models C(g) \rightarrow (\alpha C(f) \rightarrow \alpha C(g \circ f));$ (3)  $\models c\alpha C(f) \rightarrow (C(g) \rightarrow c\alpha C(g \circ f));$ (4)  $\models C(g) \rightarrow (c\alpha C(f) \rightarrow c\alpha C(g \circ f)).$ 

**Proof.** (1) We need to prove that  $[\alpha C(f)] \leq [C(g) \rightarrow \alpha C(g \circ f)]$ . If  $[C(g)] \leq [\alpha C(g \circ f)]$ , the result holds, if  $[c(g)] > [\alpha C(g \circ f)]$ , then

$$[C(g)] - [\alpha C(g \circ f)] = \inf_{v \in P(Z)} \min(1, 1 - V(v) + U(g^{-1}(v))) - \inf_{v \in P(Z)} \min(1, 1 - V(v) + \alpha \tau((g \circ f)^{-1}(v))) \leqslant \sup_{v \in P(Z)} (U(g^{-1}(v)) - \alpha \tau((g \circ f)^{-1}(v))) \leqslant \sup_{u \in P(Y)} (U(u) - \alpha \tau(f^{-1}(u))).$$

Therefore,

$$[C(g) \to \alpha C(g \circ f)] = \min(1, 1 - [C(g)] + [\alpha C(g \circ f)])$$
  
$$\geq \inf_{u \in P(Y)} \min(1, 1 - U(u) + \alpha \tau(f^{-1}(u))) = \alpha C(f).$$

(2)

$$\begin{split} [C(g) \to (\alpha C(f) \to \alpha C(g \circ f))] &= [\neg (C(g) \land \neg (\alpha C(f) \to \alpha C(g \circ f)))] \\ &= [\neg (C(g) \land \neg \neg (\alpha C(f) \land \neg (\alpha C(g \circ f))))] \\ &= [\neg (C(g) \land \alpha C(f) \land \neg (\alpha C(g \circ f)))] \\ &= [\neg (\alpha C(f) \land (\alpha C(g) \land \neg \alpha C(g \circ f)))] \\ &= [\neg (\alpha C(f) \land \neg (C(g) \land \neg (\alpha C(g \circ f))))] \\ &= [\neg (\alpha C(f) \land \neg (C(g) \to \alpha C(g \circ f)))] \\ &= [\alpha C(f) \to (C(g) \to \alpha C(g \circ f)))] \\ &= [\alpha C(f) \to (C(g) \to \alpha C(g \circ f))] = 1. \end{split}$$

The proofs of (3) and (4) are similar to (1) and (2), respectively.  $\Box$ 

## References

- [1] J.L. Kelley, General Topology, Van Nostrand, New York, 1955.
- [2] F.H. Khedr, F.M. Zeyada, O.R. Sayed, A decomposition of fuzzy continuity in fuzzifying topology, Internat. Fuzzy Math. Institute, to appear.
- [3] A.S. Mashhour, I.A. Hasain, S.N. El-Deeb, α-continuous and α-open mappings, Acta Math. Hungar. 41 (1983) 213-218.
- [4] O. Njastad, On some classes of nearly open sets, Pacific J. Math. 15 (1965) 961-970.
- [5] M. Przemski, A decomposition of continuity and  $\alpha$ -continuity, Acta Math. Hungar. 61 (1993) 93–98.
- [6] M.K. Singal, N. Rajvanshi, Fuzzy alpha-sets and alpha-continuous maps, Fuzzy Sets and Systems 48 (1992) 383-390.
- [7] M.S. Ying, A new approach for fuzzy topology (1), Fuzzy Sets and Systems 39 (1991) 302-321.
- [8] M.S. Ying, A new approach for fuzzy topology (11), Fuzzy Sets and Systems 47 (1992) 221-232.
- [9] M.S. Ying, A new approach for fuzzy topology (111), Fuzzy Sets and Systems 55 (1993) 193-207.
- [10] L.A. Zadeh, Fuzzy sets, Inform. Control 8 (1965) 338-353.